arcsec

arcsec

2](degrees)

o[m=

V (km/s)

NGC 4212

100 100

50 50
O
o
0 A 0
©
-50 -50
-100 -100
-100 -50 0 50 100 -100 -50 0 50 100
arcsec arcsec
i 1 0-30 C B E
100 - : : = o
] 1Ho.23 r = 42" -
i | 0.4 - - 69 ]
- 11015 - ]
50 - - ]
- ‘ 71110.08 0.3 :, ,:
0 000% &
0.2} -
A 114-0.08 I ]
-50 - -
i 1 H-0.15 ]
- 1 0.1 .
I | W-023
-100 - - ]
L1 L1, . _ .1, |M-030 oom . . . o0
-100 -50 0 50 100 0 20 40 60 80 100
arcsec Radius (arcsec)
fde—— E _200- -
1.2 o A4 - e B ]
C 6 J w L 4
1.0+ Ag E e 1607 =/= === == — p———— - - - === " -
~ 0.8 = X - -
0.6 E e 100 -
0.4 =" 50 E
0.2 . .
0.0Z ] 0 ‘ ‘ ‘ ‘ ‘ ]
0 0 20 40 60 80 100
Radius (arcsec)
100~ T T T T ] Q... AJ¥ L.
%Hj ++ ++ ++F++j+ e fap = - Fpz & -
50+ - e ] QuEer ;. Aulfoge) © -
r 1 ralocorr . A
0- P § Qe - . VIZ 1528 28 kmis
- + ++++4++++ + i rem o™ . Mewm 4725, 450
—50 ; ++++++ ‘H:Hq_H:‘r N 7: (anr—only)halo—corr - Vs_eum(Ropt) : 1440j— 3155 Kkm/s
1000 | | | L (rzronyynalo-orr . Vs 6.m(0)  306.6" 225 km/s/kpe
0 20 40 60 80 100 Q(rpay) : - M/M. (<R, © 0.37
Rad|us (arcsec) Qq_alo—corr(rbar) T a: 9.2 kpC
€ ... V_: 128.7 km/s
] =
200 i 0.4 ; —_— Q_r|1_alo-corr {
150 = 0.3F -
100 - -
50 - -
0 | | | ] o0t . . . T
0 20 40 60 0 20 40 60 80 100

Radius (arcsec) Radius (arcsec)



